Cx\('a(\f\-« Sc\x\w\,{ &r

Darlal Bacs X = f H?

> 0 - (7
U’L:, 3\; *PNJXIEX
D |
- 2
M-+
l

2| A‘: /\1 IhﬁJ/l t /\L _Z)L*L#{L Sﬁ’d\'m&%




Tl A

kel g Bl
Y U T S R A )
- g[fbc] §[~3 ]}

_L[—%@
6 %

S_
N

a0 a, ore e Jannbles

O(D Ay aii: gf
i(QO)‘\' i[ﬂm}f” \3'
{ X

- B



2
[ ~)D\ I 3
Zo e Y @( 2 3 4 [é])
_ 30 —lo EE
- o |Hls i [511

. (oq=e—0- =0
2 [3%}@ a) = 34 = .7
2o
jf 0. + 94, %
[Ffl?x &
?DS l%[f‘-@+\1 — )3 |7,/\
,,
= 4o = (w?) ‘5; S
— -t
g

2 = [z [Cose + LsinG |
2= 13 [Cos(fon ) + 1 S§m(fcfm %))
;o\]'o\fd UP
R %
1

S 2 Cos (ijca;l = )JrLS /\<Hm”' E\_B



